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1. A rectangular picture frame is three inches shorter than it is wide. The frame has an area of 108
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‘Midterm Review: Eunction Fos

1. Define the terms d
] terms domain, range, and function.
Also explain what a function is in terms of dom
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4. Given fix) = 3x and gy = Sy, sketch a graph of the system of inequalities formed by
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7. Stat the domain and range of cach function in both interval notation and inequality notation.
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9. Consider the functions b(x) = 5x* + 3x% + 1, ¢(x) = 2x - x*, and d(x) = %’ — x. & P
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3
d(X)=x3-y \rm eves > o E\E
AED (20 =% e

)= retleciha

A 00= -(x2-x) = - x>+ X ’ ~v@(\7 G
— / ¢
vt

b. Prove algebraically whether b(x) — c(x) is even, odd, or neither. = R e
peO-C(X)
(BB (xex D)
e ] (o0
(b-OX)= 3( x\* Ozﬂi (o0
= 7/ ~EvEN ‘,

c. Prove a.lgeb%‘cally whsther b(x) + d(x) is even, odd, or neither.
D) *d (X
Y, |+ X3 -
54+ 3y >+ | +(\/\ 5.3 = XD )‘ X >
Sl = SxUy > R | — NOTeve)
- (ot X2 SEOM R R () 1) = DXy 3 42
(oK)= -5X-X3-3xZa iy .
(o= K D)
10. a. Will the function f(x) = (x+lgt+9haveany real roots? Why or why not?

MU
><
| %

NO, DG’GJZ; Yhe yo(db0\6> VR & Qboe
e %-axd, g0 dhe prandR op*qg
W, oy pevts Qossig Yhe xeaxi S

b. Which equation will not have any real solutions for x, and how do %oeu know?

Equation 1: fx - 3|+ 8-0 \le+3\ §0 7 dun g
= \e@:

QrOSSes
A-QKIS,
Spthby ARV CrOSSES
S X‘J) MR %x3AS SO

NO  red\
Sowene & 7!





image5.jpeg
*
Midterm Review: Functio

1. Consider any function inthe form A*f(Bx + C) + D
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